' 8.8.C - (Part-II)-A- 2015 :
Roll No.  Soppma Group-I- -.;3/( PaperCode | 7 [ 2 | 6 | 3

_ Sessions;2012-2014 & 2013-2015 _ > .
. General Mathematics (Objective Type) (Arts Group) (u's/')(f _L_Jd A
Marks: 15 Time: 20 Minutes £20:23 15:/:;

AIvg 383z eon Wit L e D;,:,C,B,Ac..yz,;@lgidnrﬁzgq;qu’q:;-: G dolzl ety isd
eSSBS P 3 S IED | CBe A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. A straight angle contains: -.‘:.bﬁngifﬁisu 141
(A) 90° B) 180° ©) 270° D) 360
2. The number of angle bisectors in a triangle is: St At sl sl 2
(A) 1 (B) 2 ©) 3 (D) 4
3. Area of semi-circle is: -t i 3
(A) ”7"1 ®) 7’ © 71 (o) 277
4. The co-ordinates of the origin are: Sl 4
(A) 0 | (B) (1,0) (€) (0, 0) (D) (0,1)
5. (a+b)(a*—ab+b)is equal to: csc(a+b)(a’ —ab+D?) 5
(A) @ -b’ ®) (a+b) ©) (a-b) ©) &’ +b
6. @ +3ab(a+b)+b’is equal to: el a’ +3ab(a+b)+b’ g
(A (a+b) ® (a-b) © & +b ©) & -¥
7. A cubic polynomial is of degree: - I L?;/ff(,i.u,.,« 7
(A) 0 B) 1 ©) 2 D) 3
8. Factorization of Xx° — y3 is: L /-J x’ - y3 .8
(A) (x=y)(x*+5*) (B) (x-)(x* +x+y*)
(©) (x-y)(xz——xy+y1) ) (x+y)(x2+xy+y2)
9. LC.Mof 8p° and 12p°¢* is: -:.;;.,J:"-'._ilv'ﬂiﬁb’12p3q2 ,8p% 9
(A) 24pg’ (B) 24p°q © 24p’q’ () 12p°q
10. For each number"x" the absolute value of X is denoted by: -.;.h‘lgl_;ﬂ}!ﬁf:.—f FGsser 10
(A) * |8) —X © (D) 0
11. Solution of M =3 js: et f¥ lx| =3 11
(A) 3 (B) -3 (c) #3 (D) O
12. Solution setof x* +2x+1=0 is: ceen ¥ X +2x+1=0 12
@) {-1.-1 ® {-1 ) {0} (D) does notexist LEFY
13, Factorization of 2x* =3x is: ~etf fHJ 2x'=3x .13
(A) 0 B) x(2x-3) (C) 2x*-3x (D) 3x-2x°
14. A matrix consisting of one row is called a/an: -..-;_blk(ﬁ;l&‘.._ﬁ..jﬁ‘,tu’?.,ﬂs‘ 14
(A) row matrix GG (B) column matrix ..._.r’E‘J ¥ (C) identity matrix ..;)ﬁ‘aijlj) (D) scalar matrix ‘:JB‘/I-:”'
15. Two matrices are conformable for addition if they are of: -uﬁasﬂqri.xuﬁf{_zi&.:ﬂﬁ‘;: 15
(A) the same order  .z/(% (B) the different order J—is.2 i
(C) theorder2x2 £2x2z27 (D) theorder3x3  L3x3.2,
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5.5.C - (Pari-II) -A-2015

Roll No. .:_,&mwf Grnup-I-._.r:/ SubjectCode| 5 | 0 | 2 | 6
Sessmns,2012-2014 & 2013-2015 *
General MathematicS (Essay Type) (Arts Group) (;&JI)U‘ L) A
Marks: 60 Time:2:10 Hours 2’ 2:10:2 60: /
Section -1 2x18=36 Jj"l,.b
9. Write short answers of any six parts from the following.  2x6=12 _//2f=lz/ L 218 = Yl tditn 2
i, Define surds. -E}ié’ﬂfﬂ;ﬁw I |
ii. Multiply: 3(J§ﬁ5\/§)(4£+3\/§) : o il
- 5\7
iii. Rationalize the denominator of: 243 \/7}? -f":'-b:L}.b L‘ft;/ i ‘
iv. What is meant by Remainder theorem? "-‘q-:ffg—”:edﬂl,,ﬁ' v
v. Evaluate each of the polynomials for the value indicated below: —LJ:)?!LV el Eﬁg =48 kits v
P(x)=2x*-5x*+7x-7 ; P(2) !
vi. Factorize: 8x* -y’ U fH Vi
vii. Define H.C.F. A8 i
viii. Find the square root of: 49x? +112xy +64y° -L{./r!b'.iig Vi
ix. Find L.C.M by factorization. 2ab , 3ab , 4ca ~L«j,’/?‘!"’ Sk Siibohs ix |

3. Write short answers of any six parts from the following. 2x6=12 _q:é/":,u.eﬁ?&tzqc_éfgddmﬂ 3

i. What is meant by absolute value? el e o Yl
i Solve . ]20;_:51 = G i
iii. Solve . 3x+4|=9 g i
iv. Define quadratic equation and give an example. -dﬁdﬁfﬁi'uffué’/j‘tfﬁfsb’(ﬁﬂﬂ Av
v. Solve . 232 =3x S v
vi. Solve by factorization method; x'—6x+5=0 -‘%(J’ ] f.",.fz,@ Vi

vii. Define square matrix. Give an example. -@dﬁbﬁ-é{é}&g‘ﬂf/ Vil
viii. Find. 3(B-A), if: .. , o ﬁ ﬂ , B “—*H g | :ﬁér#.s(a-m Viii
x. Find (4+B) it A= E :] , B= E _ﬂ et (4+B) iy
4- Write short answers of any six parts from the following. 2x6=12 _u’_éfayﬁﬁ%’:ﬁlﬁzu{:—.ﬁf;uﬂdﬂu -4

I. Define complimentary angles. ,af:.gr ﬁg,({__,-ulj i
ii. Define tangent of circle. SV i
iii. Define congruent triangles. _%@}Jw[ﬁbfw i
iv. Define medians of a triangle. o _.#..ggﬂJ S lbsl sk v

v. Construct an equilateral triangle with length of each side is 6cm. .ﬁ}-f(fz"' Géff;ﬁ,ﬁufi::&ﬁ&ﬂhmd;u.ﬂ Y




vi. Find the third side of right angle triangle with a,b two sides uaiwbca,géquPé‘iﬁ Feds N6 Vi

and c is hypotenuse a=3 , b=4 , ¢c=? a= 3, b=4 c=? _:;_}.sc;:f{,ubl
vii. Find the area of a triangle whose three sides are 7o J": 120@;%{ {,MIL&.&}E“_Q Vi
120 cm, 150 cm and 200 cm. _E}F:"’J;E’uﬁff&;: 200512 5% 150
viii. Define origin. -é@,‘j"&l&w Viii
ix. Find the distance between the given pairs of points. (7,2),(2,3) e byl b E s i
Section -II r‘jﬁ,.b
Note: Attempt any three questions from the following: 8x3=24 -J /’: ;Ltﬂﬁaﬂlfdnéfa.ddj&u 'Ly
] 5 1 | o2 1 1
5. (@) Find the value of x—; and * "”? - when: X = \E“ﬁ :,QJ"/?':L”:;-{JI +;£;.+! x—; (&) .5
(b) Factorize: a—b"—a+b 87 ()
3 3 5 2 25 - - "
6. (a) Find L.C.M by factorization: pq-pqg , pq —pq AP e () L6
(b) Solve 3(x-2)<2x+1 2hF G
7. (a) Solve using quadratic formula. x(2x+7)-3(2x+7)=0 S Fesul8 KB (D) T
(b) Draw an isosceles triangle with length of the equal sides 5 cm Gl el Vgl ()
and the angle included between them is 60°. _ﬂKGDG,::U&yJ;Kqu/’fL?z‘ 5L 1
8. (a) Solve by using Cramer’s rule: 2x+y=1 3 Sx+3y=2 JISS e B AL S (L) 8
) s 5 4 ]
(b) Find the value c:-f_B if; B= A :ﬁq:?sb”&{lfﬁ (<)
9. (a) Find the volume of a cone with altitude 9cm and ;;WG%*JQJAJ&L,:/?F(? Kb A1 (1) .9
radius of the base is 6cm. 4 _ﬂ}fﬁ“‘: B 126045
(b) Find the distance between the given points (a,b), (b,-a) -ypEebupnlsedss (&)
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Roll No.

8.8.C - (Part-I)-A- 2015

Group-II- -.;d[ PaperCode | 7 | 2 | 6 | 4

Sessions;2012-2014 & 2013-2015 o
General Mathematics (Objective Type) (Arts Group) (¥%*) §° LJ(J 7
Time: 20 Minutes &2420:2% 15:/:‘-'

Marks: 15
A6z eon W in et L& 3D CB AR L vy z;eq;qv@g Lﬁfﬁfdjayméamrrw:@}
' il %LLFL,-J@}LLLL?IJWQJ LD L C,BeA szl L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

r_f.é.:ﬁ.:hyf

1.1. Aline joining one vertex of a triangle and perpendicular to its opposite side is called: -.-‘;.t'llf-’;ﬂ;é" e gl 1
(D) side bisector ist¥”
-;.b':fé.ﬂﬁrﬁ"a" &IKJ’&.-«L{"&IJ-"U'LSJLA 2
B) b ©) B (D) B
4 2

-%t'ﬂff d= \/(xz =X )2 +(y1 =N )2 3
(B) collinear points Lk~
(D) equal points bS5l

(A) angle bisector ict¥,s10 (B) median k- (C) altitude { it

2. Area of an equilateral triangle with side "a" is:

1
) 5

2 2
3 d= \j(xz "x|) +(y2 _J"I) is called:
(A) distance formula ~ _K¥lets
(C) non-collinear points  bks (7

4. @ +3ab(a+b)+b’ s equal to: e, @ +3ab(a+b)+b’ 4

®) (a-b) ©) a’+b D) o’ -b°

e bore eSS an Pt AL 5
(A) mixed surd UL f (B) surd (UL (C) rational number s« *t (D) natural number sx(.3
-.:_'_I:':f..?.uh’ L?J/iflj-.u,-# .6

@A) (a+b)

5. Anirrational number that contains radical signs is called:

6. A cubic polynomial is of degree :

(A) 0 (B) 1
7. fX—a is afactorof P(x),then P(a)is:

(A) O (B) 1
8. LC.Mof 8p*, 12p%" is:

(A) 24pg° (B) 24p’q

9. An equation that can be written in the form ax+b=0 a#0
where a,b are constant and X is variable is called:

(A) Iinearequatiun:.«hlwul’; (B) inequality .:.J:L»/:f

10. Solution set of x| =3 is:

@ {3} ® {-3}
11. Factorization of 2x* =3x is:

(A) 0 8) x(2x-3)
12. Solution setof x> —9=0 is:

@) {9} @) {+9%

13. Two matrices are conformable for addition if they are of:

(A) the same order .z/(%
(C) theorder2x2  2x2.z/
14. For matrices (A B)_l is equal to:

(A) 47! B) B!
15. The sum of the angles of a triangle is:
(A) 90° (B) 180°

(€) 2 (D) 3
K P(a) 3ud 26 P(x) x—a fi 7

(C) -a . (D) a

e Pk 12p°¢” , 8p” 8
(C) 24p’q’ D) 12p’q
e temS az0uax+b=020n0- 8
-‘L.Jﬂ:‘::f/f& xﬂb:.alﬁiﬁpbca.ﬁ
(D) constant J“:"
e ¥ X =3 10

(C) solution J"

©) {13} o) {0}
-.;*.df.ﬂJZx2=3x 11
(C) 2x*-3x (D) 3x-—2x°
~er S x*-9=0 .12
© {3} ©® {3}

_,L,Im;/(! u_;.?_:fu:}r_if_(‘}g bss .13
(B) the different order .=,/

(D) the order 3x3 3x3 .2/
ez (AB) " LLusks 14
©) B 147 ©) 47'p7!
—e e Kugsil e 15
) 270° D) 360°
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S.5.C - (Part-II) -A-2015

Roll No. Grnup-[[-....u/

;/,E:ﬁ'ﬁ;gf

Subject Code

Sessions;2012-2014 & 2013-2015
General Mathematics (Essay Type) (Arts Group)

(;E-Jr)(}; ()

Marks: 60 Time:2:10 Hours J 2:10:=% 60: /:'
Section -1 2x18=36 di’ | >
2. Write short answers of any six parts from the following. 2x6=12 ~J_z’;ff=;§l£/'?£plegc.|j£.d¢jbu 2
i. Define improper rational expression. _L,_;_’/bg /:"JEJI’[;,_:;:], /{ i
ii. Simplify: V147 S i
il. Simplify: V2448 g i
iv. Define linear polynomial. _L,_(/_.E,J,;J L?J/:.E'(Lg-ﬂug, v
v. Factorize. ad +dc+df _u_fflv.(_} Yo Y {IAY
vi. Factorize. K?*-81 _;_{/df." Vi
vii. Define L.C.M. U3 PSPk i
viil. Find L.C.M. 2ab) 5 3ab ; 4ea g fies i
ix. Define H.C.F. SIS BP5Ee ix
3. Write short answers of any six parts from the following. 2x6=12 -u’f /...-U.P/"L;!!!ﬁ’:_df:..w(bbu b
i. Define linear equation. ..J/J/’J;..A:L-«-f i
ii. Solve. 2x-3|=5 AL
3 1 |
iii. Solve. PR 4= - JASL i
iv. Define quadratic equation. _L{f_.gf/:"lf:.«bu&ﬂu v
v. Solve . (;1;;—3)2 =4 | _&f:f V
vi. Solve by factorization. %2 —4x+12 = 0 -L{/'U“U f:.;-_u,} Vi
vii. What is meant by non singular matrix. S JintZ il
viii. Define matrix. ..q/h.é}/""d/.._.«i‘li' Viii
u v )
_ix. Find determinate. 2 o3 ..JJE:"”&” ix
4- Write short answers of any six parts from the following.  2x6=12 _J/ / el L?fiﬁpl?[i;.&;;.[jd;bﬁ -4
i. Define complementary angles. ' .,{.{/hg; /Jd_:.: I
ii. Define Radius. gl S i
iii. Define tangent. S AN
iv. Construct -a triangle ABC when ;24 = 60% 7728 = 30° and— il mZB=30msLA4 = 60" ,{éuft;;ABC.s;iﬁ iV
the included side 1 AB = 6cm - 4 mAB = 6em & s
v. Define tangent of the circle. “J S /UJ V2 IRY




o e E —w,

vi. Find the altitude of a triangle whose base is 16 cm SEE 163.:#5‘5")’3@5/?;"’6@%’% Vi

and area is 34 cm?. B --:5.}{(5;:&/34,}}
vii. A cone has a circular base of radius 14 cm and a height of 48 em. KL= 14U 1K6wbs L 7 (s bs AL Vi
Calculate the volume of cone. _L,Iflr"}b"r? Kbs foc 5 4BL I
viii. Write a distance formula between two points. Lo nd bss i
ix. Find the distance between the pair of points. (702 5(-2.%) SR ebeend s ix

Section -II (3:,.2‘9 _
Note: Attempt any three questions from the following: 8x3=24 _J éfaylﬁéaﬂlrufc.df:.bﬂd $10))) :-..*.J_

5. (a) Find the value of@” +” +¢* i, ab+bc+ca=11ga+b+c=6 Ly il a0+ () 5

(b) Factorize: 8x’ —6x ”QJ_" +27y’ 174 ()
6. (a) Fine square root of: 4x" +12x° +25x" +24x +16 _L,I)F'PC’;/I;J.; () .6
3x+4  x+1 x+5
(b) Solve and check: 5 3 #l= 3 _L,f/()t'j;ﬂuf()’ (u.:.-r)
7. (a) Solve by completing the square method. 5x* ~20x-28=0 _q/f';“’d/g}f:g;q () .7
(b) Draw a semi circle-with diameter 4cm and centre at O. -;«réu{oﬂ,’wruﬁgmjwu-_w (o)
y 7 3
8. (@) Find the inverse of matrix A if: “l14 9 A S e () .8
(b) Use Cramer's'rule to solve the simulataneous equatiun.. Give the L{/J"fu?hpﬂ)‘?:..;g A ()
reason if solution is not possible. Sx+2y=13 ; 2x+5y=17 | -L,:fu_l;:g;ﬁ;wﬂwﬁ
9. (a) A ladder 17m long set against the wall of a house just N2 e\ NSl 217 (L) 9
reaches a window at a height of 15m from the ground. How Ku’f;‘:.&‘f”‘:‘.ﬁf }fgégsﬂ 1525
far is the lower end of the ladder from the base of the wall? Sl sl

(b) Show that the given points-are collinear. A ( 1 ,4),5(5,6),0(9,3)' ..L,‘rgi.ir‘?blﬁzﬁé.:f%:«:b‘ ()
24-010-A-32000 :



S.8.C - (Part-II)-A- 2016 o
RollNo.________ e P hsart (For all sessions) PaperCode | 7 | 2 | 6 | 3

. Group-I- o ) . .
General Mathematics (Objective Type) (Arts Group) (Lﬁ/*)U‘ LJJ P
Marks: 15 Time: 20 Minutes &#20:2% 15:/':;

/:Urruf,;qmrzr ¢ ‘MJJ?Tf?lﬁpﬁ:bﬁzé.JDﬂl,C,B,A&Uﬁ;ﬁkéd'fﬁéffq;(_éb/[}fﬁﬁf’gﬁ:&[jﬁ&:xUf.r"r'{z"":-.i'.w.!}
_q:ﬂagﬁkJJJLﬁLLﬂJW&uﬁu:FbLD L CBAsz&lLL
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. The number of altitudes in a triangle is: Y P AN SR K
»(A) 3 (B) 2 (€) 1 - (D) 4
2. Area of a circle with radius '7' is: -ﬁ".'-t':f,.}')i{-'::‘_. ' UK e 2
(A) r’ (B) 277 - © 7 (D) 7+’
3. In the plane with every ordered pair is associated. -::_tﬁﬁa.@.jﬁéfﬂu:dﬁ‘”bg 3
(A) a unique point &2 (1 (B) zero  (C) twopoints s (D) four points 4G}
4. An irrational number that contains radical signs is called: _gt&ﬂﬁyw&,%ufu’*wytj.ﬁ 4
(A) mined surd ﬂiﬁbﬁ (B) surd ﬂiﬁ' (C) rational number s P (D) natural number uJ;ﬁ
5. @ —395(53.—5)—53 is equal to: sl a’ —3'1357(0—5)'—53 5
(A) o +b° @) (a+b) ©) o' -b° ©) (a-bd)
6. A cubic polynomial is of degree: ,;;_,tn,;;:b’g;j-ff&x;f 6
(A) 3 (B) 1 (€) 2 D) 0
??"[f(x—ﬂ) is a factor of P(x), then P(ﬂ) will be: _6x P(a) Ind A7K P(x).x-a N7
(A) —4 (B) 1 (C) 0O (D) a
8. HCFof 12pg , 8p°q is: ek 12pg , 8p%q 8
(A) 4pq (B) 4p’q" (€) 4pq° (O) 4p°q
9. Solution of |X|=3 is: Py (1 Ix|=3 9
) {3} ® {3 ©) {3} o) {0}
10. Solution of [x—1|=4 is: | ceanf¥ x=1=4 10
(A) {-5,-3} ®) {5.-3} © {-5.3} @ {5.3}
11. Solution of x> =5x+6=0 is: -.-:_J’E’ x> —5x+6=0 .11
() {2.3} ®) {3} © {2} @ {-2.-3}
12. Solution of (x—2)2 =4 |s: ' ...%-__*.fJ’E’(x—Q)Z =4 12
&) {2.6} 1) {-6,2} - © {-6-2 o) {0.4]

13, A matrix consisting of one row is called a/an: _ﬁ;t&ﬂﬁxwuﬁ_jﬂutu&__»lﬁ' A3
FA) row matrix A (B) column matrix _'J{?J ¥ (C) identity matrix /¢ ijg__};:’ (D) scalar matrix 4@':“
14. In matrices (A4+ B)', Aand B is equal to: etz LBaA UR6 (A+B) 14

(A) A (B) B’ ) A +B (D) A'B
15. A straight angle contains: | _:‘:_t'ﬁ,?JJE’f?;JU 15
(A) 90° (B) 360 () 270° (D) 180°

21-010-A- W W



5.8.C - (Parl-II) -A-2016

Roll No.

L—/.EJ.‘I;J[J.-{;’;

General Mathematics (Essay Type) (Arts Group)

.

rus
IIIl

Vi,

vil.
Viil.
X,
1,

ii.

\a

Grou

(For all sessions)

Subject Code| 5 | 0 | 2

3

p-1- ....a/(

(e ks 2

Marks: 60 Time:2:10 Hours &% 2:10:2% 60: %
Section -1 2x18=36 J3l o
2. Write short answers of any six parts from the following. 2x6=12 ﬂq&f@i_.lﬂﬁ"sz:ﬂgaéfr_u:L}:jtw 2
Define improper rational expression. -L{f_@ﬁJ&JL’tghﬁ i
. Simplify: V147 S i
iii. Simplify: (6“5)(5‘\/5) I i
. Define cubic polynomial. _;_,_f/._}._I/TJ L?;/?Uf:.;uuf iV
Factorize: x> +27 _u:/d /H v
i. Factorize: (x+ 2)2 ~1 JASE i
ii. Define L.C.M. g S Pk vii
. Find LC.M. 2yz L 'z, wid LSk i
ix. Find H.CF. 22 +3x+1 , 4x° -1 S i
Write short answers of any six parts from the following. ~ 2x6=12 -z /eliz S i21g e $le ot fstn .3
. Define absolute value. _L,_(/..éf/U:éJm’ i
4x 3x
Sol . e — 4 . )"
olve s 2 JAL i
Solve . 2x* =3x JAS i
. Write the formula to solve a quadratic equation. _uﬂf B’L/U’f.:.rup&;u; dv
. Solve . Bx+4|=9 J/SF v
Solve by factorization: S5x=x2+6 _.‘*Tfﬂf)’df{uj_- Vi
Define an identity matrix. H&_-f-i@ﬁJh_JESHL} 77 Vi
a b —-a —b
Find A+B, if: 4= l:c d} ; B= |:—r: —d] :ﬁ%‘:‘”ﬂ+8 il
Define multiplicative inverse of matrix. ...L,f/ru..é;’j?JJ}G‘L} FLE ix
4- Write short answers of any six parts from the following. 2x6=12 _L{J{ff;al,lﬁ/‘?&plxlnga.Jf:,ufd_’jt-,u -4
Define quadrilateral. SIS B A i
Define parallel lines. SIS B i
Define radius of a circle. _L{)f..;_-' ,;L,(Jru[.a}u it
Two angies are supplementary and the greater angle exceeds the -c‘f‘...fﬁffiﬂﬂc*_.r’:_:lji_.ﬁf_’;dulifﬂFujd }‘}r?“_;uu v
smaller angie by 30°. How many degrees are there in each angle? fe. LE;:LJV@:U..Q,;
. Define tangent to a circle. _L,jf_.éiﬁbfd{féufb V



vi. Find volume of a cuboid whose length, width and height are 4cm, w2 AAdi sl g LSy S KU AL vi

3cm and 2cm respectively. U RET 22873 2087
vii. Write formula of volume of a right circular cone. _uﬂlrxﬁgﬁﬁ(CGne)u}fd:}rsd;ﬁ Vil
viii. Find the distance between the points. O(x5,3,), P (x,01) YR bglend L6 vii
ix. Show (—*8,“8) in cartesian plane on graph paper. _q&w{gqlﬁ (—35 —3) U= ix
Section -II (93>
Note: Attempt any three questions from the following: 8x3=24 - );ffaylﬁimﬂirafc.éfc,gﬂd HHOPROT
1 1 %
5. (a) 1fx=~/5+2, then find the value of x"‘;&-‘*j"‘? _q/?:l”uf":_;ﬂX=\/§+2ﬁ () 5
(b) Determine whether the second polynomial is a factor ¥ (?J/?/Lk;rl?.:/i"’(d /s:f;{/?:"’ﬁq_fﬂf (.1.,)
of the first polynomial. S5x*+3x" —x+1 5 x+1 e d Az
§ .2 4 ) . &
6. (a) Find H.C.F by division method: X -xtextl L xT-20 4201 fleF s b T (L) 6
: 1 1 1 3
(b) Soive : Ex+gx=5x+—£ -cg:f (o)
7. (a) Solve by completing the square method. 2x* —6x+3=0 SIS 3l (DT

(b) Construct a triangle ABC with base length 5cm and the angles sl 5= 53"’ L e tABCL L (L)

at both ends of the base 45° and 60° respectively. _U60°5145° i SUgstill Us sl
I -1 , 1 -1
8. (a) I 4=|, 5 |, then verfy that A —-44+51=0  _spfepid=|, |/(IN) .8
(b) Use Cramer's rule to solve the simultaneous equation: _ujfffu?hwﬂ/"ir;;a“}éﬁf (n.:.«)

2x+y=1 ; Sx+3y=2
9. (a) Find the volume of a sphere with radius 3.5 cm. st 3.591;;(&%}7’? g/ () .9
(b) Show that the points A(6,1),B(2,7)andC (-6,-7) LIC(-6,-7)»B(2,7)A(6, 1 }J;Lz}.f?_:{:«:l% (.._,«}
are vertices of a right angled triangle. | _L'EJIJLLLE‘:«!I/'”;}E
22-010-A-




**** S.5.C - (Part-I1)-A- 2016

Roll No.__ P 72y S W (For all sessions) PaperCode | 7 | 2 | 6 | 8
Group-1I- ..f:/ .

General Mathematics (Objective Type) (Arts Group) &S LJJ A

Marks: 15 Time: 20 Minutes &2220:=4 15?/:’;

A 36z ':.w.u,,.ﬁ}f,ﬂiﬁu’?@géé_:D,ul,C.B.A@Lfﬂ;@kidwﬁéﬁ%@h’(_}b?(f‘ifl_?fdm«Lfﬁiaulrﬂ?:é)
' S e GBS 21 e S s LD | CBe A szl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. H.C.F of 6pgr , 15grs is: e ek Gpgr , 15grs 1.4
» (A) 3qr (B) 3pgr ) 3pgrs ©) 15pgrs
2. The symbol '<' stands for: _,.-T«*_J)}w’s;*yw D
(A) less than < ¥ (B) greater then or equal to < slslize
(C) lessthanorequalto e slsilfc (D) equalto szl
3. Solution set of [x—1|=4 is: -2 ¥ x-1|=4 3
) {5-3} ®) {-5-3} © {-53} o {53}
4. The number of techniques to solve a quadratic equation are: _qré_,)LL/Jfalsp&J;;; 4
(A) 1 (B) 2 (C) 3 (D) 4
5. Solution setof x* =1 is: _g_,.;n)’ﬁ x“=1.5
@) {1} ®) {*1} © {ti} @ {-1}
6. The number of rows and columns in a matrix determines its: _f_&/fe;l!;:ﬁ_____ui' __Agﬁjd’uﬂ Kslyss 6
"{A} order .2/ - (B) rows (/& (C) columns Hb’ (D) determinent vl
7. If A' =—4,thenA's called: et A A =—4 N 7
(A) symmetric J”t‘*; (B) skew symmetric J’JL:?/{ (C) transpose J;;JI} (D) square matrix A6,
8. The number of altitudes in a triangle is: Y OB 91ACH
(A) 1 (B) 2 (C) 3 (D) 4
9. Area of a Square with side "S" is: : . t’ﬁgﬁﬁ"S"éj KU G 9
(A) S (B) 4S (C) 25 D) S°

10. The angles with common vertex and a common arm are called: -t & esr S FA Ll S 72Ut Pt simnct 10

(A) vertical angles &35 (B) supplementary angles & sif ey
(C) adjacent angles &l J&* (D) complementary angles <_slj(§ 4
11. The co-ordinates of the origion are: et a1
w0 ® (1.0) © (0.1) ) (0.0)
12. a _3‘95(”"5)”133 is equal to: —&- 4l a "3”b(ﬁ' _b)_b:q sy
A) @ +b’ ®) a’-b ©) (a+b) ®) (a-b)
13, (a=b)(a” +ab+1)is equal to: —edc(a=b)(a’+ab+b’) 43
# (a=b) ® (a+b) © a-b ©) @ +b’
14. IfX—a is afactor of P(X), then P(@)= e e P(a) il Az P(x) o x—a )i 14
(A) O (B) 1 (C) -a (D) a
15. Factorization of a* —1 is: | -c‘:.df.udl a' -1 .15
(A) (a-1)(a2+1) (B) (a——-l)(af+1)(a1+l) ©) (a+l)(a2-l) D) (a2+1)(a+1)
23-010-A- W R W



Roll No.

g é}ﬁ;l!ff

General Mathematics. (s

Marks: 60
Section ~I

2. Write short answers of any six parts from the foliowing.

i. Define binomial surd.

ii. Find the lowest term of:

jii. Find the value of g? + b* when:

iv. Define cubic polynomial.

v. Factorize:

vii. Define H.C.F.

viii. Find L.C.M. by factorization:

ix. Find square root by factorization:

3. Write short answers of any six parts from the following.

i. Define linear equation.

ii. Solve.

lii. Solve.

. Solve by factorization method.
v. Solve .

vi. Define quadratic equation.

-1 2
vii, 1f4= [_3 _J , then evaluate det A.

viii. Define square matrix.

iX. Find transpose of the matrix.

4- Write short answers of any six parts from the following.

i. Define obtuse angle.

:

ii. Define centroid of the triangle.

Define rectangle.

iv. Define tangent of the circle.

v. Find the value of X in the given triangle.

(For all sessions)

Time:2:10 Hours &£ 2:10:<3s

.. Evaluate the polynomial for the value indicated.

S8.8.C - (Part-11) -A-2016

Subject Code| 5§

6

0| 2
Group-II- ....d/ .
say Type) (Arts Group)

60
2x18=36 Jil >

2:x6=12 Sy fe 2 L g e (e St St
U3/ L/(f“bfﬁf'(?w :

8x° y° 2 ik

12xy5 _L{:’E}”Jﬁc{}/‘j’

ab=12 & a+b=8 Ly e gt + b
Qth@ﬁng/ffdiﬁof i
x2—x—2 - kg ez

Y2 SN P AN
p(x)=x"+4x’ -9x* +19x+6 ; p(-2)

_L,_l_’/.,.:q,?""g_;r‘gﬁgh

pa-pqg , p’q’-p’q’ LIPS £

49x* +112xy +64y°

5x—-6=4x-2
3(x+3)=14+x
Sx=x+6

2x% =3x

_L{/rq_éfjjgf:.«hl-/d’.m:
-1 21
e dfdetAc A= L_3 _4J /i

SIS AW 5

% =El ﬂ S s
2:x6=12 g feln Al g e (et S it
SIS AN
ISy
SIS s
SIS P S Ly
S x e S

Pl BILSE
2x6=12 Sz fele /Pl g e e it
S ffems”
JAL i
_JAF i

SIS SFgs |
2B

e 2
J

i

il

Vi

Vi

Viii

Vi

Vil
il
X
-4
A
Rl
i
v

v




vi. Find the area of triangle whose base is 18cm and altitude is 3.5 cm. -x3.5cm {i/ls118cm o F K~ )F':L"‘,.}}KLL‘A Vi

vii. Find volume of cube having one side 4cm. S a4 _Qb’u’zu_.)?sl"ﬁ-’ Kl vii
viii. Find the distance between the points. (7,-2),(-2,3) _L,j/f‘}”,l-a{i&_w;{w? Viii
ix. Define collinear points. ..q/..gﬂ{mﬁﬁ ix
Section -II (93>

Note: Attempt any three questions from the following: 8x3=24 -q&ffaklﬁﬁaﬂlrﬁaéf:.gﬂd_ 3ty 1

5. (a) Find the value of @b +bc+ca when:a+b+c=1l1g a’+b* +c’ =81 :,QL{/?}”‘..::EJHEH“E’C“LCﬂ () 5

(b) 1f P(x)=3x"+hx =26 i¢ givided by *—2, find ' LI x=2y p(x)=3x"+hk=26 5 (_)
if remainder is 0. | S d Skl 0 =
6. (a) Find L.C.M by factorization: x*—49 g x* —4x-21 _J_)?}V{L.C.M)Lﬁdhbissaé‘:)ﬁdf () 6
10x—-1 _ 3
(b) Solve: e | JAF (L)
7. (a) Solve by completing the square method. x*=10x--3=0 _L)_'/J’@/Jf.;ué () .7
(b) Construct a rectangle with sides 10cm and 6cm. ~Un( 6 100U L Penl o (o)
2 4 3 =2 8_3—-2 A—24’
8. (a) IfAz 1 5 ,B_ 4 6 | then P R P R NS P O -) I -
| ! / f -
verify that: (4+B) =4 +B A7 A
2 1 2" 1 |
(b) if 4 ={5 3} . then prove that: A'4=1 :f&_;{:,ﬁ?ﬂ 4 21: 3} S (o)
9. (a) Find the volume of a sphere with radius 3cm. A 3quﬁu’*¥;§”ﬁ k7 (A1) .9 ¢
(b) Show that the points are collinear. A(-1,1),B(3,2),C(7,3) _qréwﬁﬁbdf@(mE ()

24-010-A-




D & D (Part-IT}-A-2016

(For all sessions)

-l

&
(W3 )II!,.;..;
LA 45 1y

15 /Lf

Pl N W L S U’_z::g&wfé el & 14 24 bz & Ui £ Ju
SPEV QT (Va1 1 T A ST R

10

~4b (D)

Auliiss® (D)
3 (D)
el 3,3 (D)

3 (D)

Bk ( v’).a;..‘.r[s?.:a—:u.x‘;.:.-—'.u*lﬁ\.g.:,Lﬁuﬂ.p{fﬂ_"j__m.ri;!ﬁ;ﬁ:ﬁ;ﬁdlfﬂ i

dab

Kfﬂﬁ’*

(C)

(C)

2 (C)

JlﬁlJbl:

(C)

2 (C)

(Jn:—y)(.w:2 + xy+y2) (B)
(x+y)(.1:2 +.JL‘_]?+_])2) (D)

3 (D)

3 (D)

4p’q (D)

0 (D)

&* (D)
LA (D)
Al (D)
3x3 7 (D)

& nas (D)

4pq’

Jiibzns x (it

Ed534
s

2x2.2

a’+b* (B) —4ab (A)
—etbfunu 2 O(%) i P(¥) Gy Q(I)i“‘.ﬁu*’-kﬁ/:‘f'b’fJg_%-ﬁ -
A2 (B) Sl Fe (A)
_:‘;b':f,.‘:u.!b’g_rgﬁﬂ,x :
1 (B) 0 (A)
e bl S S P AL
FLes# (B) A (A)
—tronblnt
1(B) 0 (A)
e 6#S x*-16
(x=»)(x"+5*) )
(Jc—-y)(.r2 —.xy-+-y?) (C)
_ugzi:..).ﬁi_/?ﬁ’juwuj .
1 (B) 0 (A)
_%JIA;JUE)’LL/?!JM‘;%JE :
1(B) 4 (A)
s 'f_sE;KIqu ,8p’8
4p'q* (B) 4pg (a)
._.,/-"J’ L KU
A (B)  Fisbzlss (A)
Py /7Y SR SIS U s
S5 (B) 27 (A)
- t‘L‘ﬁmL&‘iwﬁd V6
Jid¥ (B) 685 (A)
SN GE L P8l
66 (B) s (A)
_Uﬂu:ﬁujlﬂu:}fé‘f;g‘__)ﬁ'u
L.z il¥ (B) =77 (A)
Uﬂnﬁr{_&ﬁg&fﬁ:{ﬁm}?
Gsss (B) Ganlt (A)

LJ.!?JJJE

(C)

(C)

(C)

(C)

(C)

(C)

(C)

(C)

(C)

(a+b) +(a-b)

D-61-010A-600

(EUr#i) A
(Lt LJJEE’J )/"; LJ.U

90} HKdng

bt

10
11
"
A3
14

A5



Roll No. e Sisd M
36
&
G
24

D& D. - (Part-IT) -A-2016

(For all sessions)

D-62-010A-600

-l

L

O72-D) | P,

¥

5L 1.45:5,

60 /f

Jilo

_zgamgm.{.@u:f(s)ﬂadfc_utdjm -2
?::'_.;L/k‘/c.ﬂjlxlﬁl’t/;‘:’ A
,’qfo;élﬁgfﬁﬁﬁ i

_@rﬁ!JfJ&dA i

BB ST LS Sl Pl
_a{._.gy?&ﬁfi’ﬁ‘ .
S twlesd KUyl el

o i_ﬁu.!_?r‘é_ {.C‘,’..J E'J.:::*...u.J,f :

Ll L A5

?.:;_rﬁgﬁ?f:{ng@ﬂf :
i
,.:_‘_”Ude{ =9

(93,50

11

v

v

Vi

Vi

Viii

Xi

Xii

o 2;.’6 -.:-«Qf.ﬁéc.aﬂlrcf:.tjfc_ ‘ﬂd_' RTOV

X} +5x-6 &by ez
abxy , a’bc _’c_g[j:l”'rh e sl $E

- hﬁﬂ&fl&fﬁl};:f}jﬁ' ‘

_a{ 7z e Fe sl g S S st Soln

Hég(:ﬁbj:-y_LI/QjJ&fg :

-3
4

5
.6
7



Fﬁﬁ* !
S.5.C - (Part-I)-A- 2017 |
RollNo.____ o Jopmad (For all sessions) PaperCode | 7 | 2 | 6 | 7

. Group-I- .m.-sf 3 .
General Mathematics (Objective Type) (Arts Group) WS de A
Marks: 15 Time: 20 Minutes &220:3 | 15:/-,2

WALV ORI AL, -h-_—rjj.,_,,Tf.,,lgu"-:qrefé.;D;:!,C.B,A¢y:z;@gédrrﬂafg;qmmu‘if'fdmyméamrrﬁ:gd
e SLSBLINe I 3e S UsED | CBe A szl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. HC.Fof 12pg , 8p%q is: - bk 12pg , 8p%q 1.1
(A) 4p’q’ - (B 4pg° (©) 4prg (D) 4p'q
2. Solution of |X|=3 is: cewrf¥|x|=3 2
(A) 13 (B) 3 (C) -3 (D) O
3. For each number X the absolute value of X denoted by: -.:;.tl;—l&;lﬁi’;..f&u”J Xsup 3
(A) X (B) 0 () * @) |x|°
4. The solution set of (JC—Z)2 =4 is; -2 S¥ (I—Z)z =4 4
 w {62 ® {0.4) © {-6.-2} o {26
5. A quadratic equation has a degree. —etbyronbatslafi 5
(A) 3 (B) 2 (C) 0 (D) 1
6. In matrices (AB)_I is equal to: e s (AB) 2 Ludv 6
(A) A7 B) 4B (C) B (D) B4
7. A matrix consisting of one row is called a: - bll:‘ﬁ;w}‘ug_jﬁu:pﬁgﬁ‘ 7
(A) column matrix .,JG‘JG' (B) identity matrix _:JG'BFJQ/-" (C) row matrix /6,5 (D) scalor matrix .._-JE')-'-';
8. The sum of the interior angles of a triangle are: -&- bvres bfugauduﬂiw 8
(A) 180" ®) 90° () 270° (D) 360"
8. The number of angle bisectors in triangle are: U ,;._,a;t;[;u{r,r Jaeds 9
(A) three F (B) four (€) two s (D) one i
10. Area of a circle with radius 'r'' is: —e b i 1 K e 10
(A) 7°r (B) mr’ (C) 2mr (D) 7T
11. The point in 4" quadrant has its ordinate. —c KBS B 7 11
(A) positive =5 (B) zero /* (C) negative (¢’ (D) one (i r
12, Ja= a’% is a surd of order. | 1 Ja = a’’ s 12
[A}% (B) O (C) 1 (D) 2
13. Cunjugate binomial surd of 2—~3/5 is --:_'-r"afﬂﬁ’bﬁfdl2—3\/§ 13
(A) 2+34/5 (B) —2+345 &) ~2-35 (D) None U0y
14. (a —b)(az +ab +bz)i5 equal to: ey (H—b)(a'2 +ab + bz) 14
) (a-b) ®) (a+b) ©) @ -p ©) @ +b
15. Factorization of a* —1 is: ---f_-(}'f."d/ a' -1 .15

| (A) (a—l)(a2+l) (B) (a—~1)(a+l)(az+1) (©) (a+1)(a2—1) (D) (a2+1)(a+l]
21-010-A- W W W



S.8.C - (Part-IT) -A-2017 i} o

Roll No. o Sdird (For ali sessions)
) Group-I- a.._.r..«:/" e . l
- General Mathematics (Essay Type) (Arts Group) (e §” LJQJ V!
Marks: 60 Time:2:10 Hours &£ 2:10:2% 60: /7
; Section -I 2x18=36 LJE’L.;:::
2. Write short answers of any six parts from the following. 2x6=12 _q)}faux/?éipr:zug.z.dfa.ucqjaﬂ 2
i. Find P(0)f: r(y)=3)’ +i§+9 :/TL{JH”‘ P(o) .i
i. Find @” +b% when: a+b=8gpq ab=12 B Sphrnd § a*+b* ji
lii. What is meant by pure surds? el Ve P i
iv. Define linear polynomials. JS38 L?J/-ff‘j’.;;_{ v
V. Factorize: 27x* — 645 87
vi.- Factorize: | PRIV S8 i
Vi, Define LCM. SISy AP vii
viii.”Find H.C.F, l4a’bc , 21ab? L= e i
ix. Find L.C.M. 18ab’c® | 6abc® , 24ab2c? Ik i
3. Write short answers of any six parts from the following. 2x6=12 -q@fmyﬁﬁ?ﬁplzrg;&&.uhﬁ&: 3
i Define linear equation. | | _L,:fhgﬂfc_,hpu!’j A
i.-Solve . if; =] -JAL i
ii. Solve . 3x+4]=9 I
Iv. Solve by factorization: Sx=x*4+6 ..i’:_{d" § f,.gJ.i_.« v
v. Solve . 253 =3y J/F v
Vi. Define quadratic equation. -g’:-é‘f‘;{f:af}b‘ijﬂu Vi
vij. Define rectangular matrix. | -a;{_gﬂfqis L,‘.“E;" Vii
a b _
viii. Find the additive inverse of A if: A= L d] :ﬁé{?:bﬁ_f:“:‘d‘? KA viii
-2 5
ix. Find determinant if: 4 =[ | 4] ﬁ@?)”ffﬁ’ X
4- Write short answers of any six parts from the following. 2x6=12 -q&faymﬁ?éfrmg;df;uzdsw -4
i. Define right angle. SIS PNt
i. Define circle. _Lg.fbéifmﬂ: i
iii. Define sector of a circle. _L{/_@ﬁJ}?La}I: i
iv.. Draw a triangle ABC in which: mAB =43cm , mBC =5.4cm , mAC =3 9, LU LABCEL: iy

v. Define in-centre. L /..él ,;Lffgw-ﬂf v




vi. Define pythagoras theorem.

..L,f_'fa.éffTJc.d:’;E:Lﬁ-"‘ Vi

vii. Write down the formuia of finding volume of a sphere.

_u.:”‘q}r,rﬁ{é_/rﬁ’f b 7 i

vili. Define collinear and non-collinear points,

LSS A A i

Ix. Find distance between the points (7,-2) and (-2,3). LA bRk B(-2,3).01(7 2) i

Section -II r.u...b

Note: Attempt any three questions from the following:

8x3=24 _J éf@}h’!&mﬂlﬁgﬁaé&g}fd 3o 2oy

2 2

5. (a) Find the value uf(x_y) if: x* +y? =806 4nq ¥ =-16 iﬁL[/((":[”&JEJ (Ih«"') () 5
{b) Factorize: X' -3 _u:fdy‘f (i...r)

6. (a) Find L.C.M by factorization. x* =49 , x* —4x-2]

U Pk A (L) 6
(b) Solve : Vin+9 =p-1

& (L)
~ 7. (a)

The product of two consecutive positive integers is 156. Find the numbers. -

LAk 156 AV bt (L) 7

(b) Draw an equilateral triangle with length of each side 6cm.

RGO e b Lot ] (e)

-3 2||-1 5
‘8. (@) Find the product of matrices. - 4 —1ll-1 3 -gf#eﬁfbfuﬁﬁ () 8
(b) Solve by Cramer's rule: 3x-4y=7; S5x-7y=12

2 2
3. (@) If the lengths of two sides of a right angled triangle are , U (ﬂ —b );:f.?abblwiu&wf;iﬂly’ﬁ'_gfﬁ (i) .9

2 2 2 r‘ . "
| 2aband@’ —~b then find length of hypotenuse. s +b LA[:-JJJJJ/L{;%E:’
|
|

(b) What kind of triangle is having vertices. A(6,-2), B(1,-2),C(-2,2) Sur e do$r U (L)

22-010-A- 275 oo
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: _ "'),- <.
S.8.C - (Part-I)-A- 2017 o

Roll No. e Sobma (For all sessions) | Papercode | 7|2 |6 |2

_ ~ Group-II- ..;-.1/( o -
General Mathematics (Objective Type) (Arts Group) (u%/*)d' ,lgxd 7
Marks: 15 Time: 20 Minutes 20453 - 157

/'_Ulru'f{qE’L}lﬁtut"{u:-fﬂu;ﬁ;_;«lﬁfruj.{é.;D;:T,C,B,A:eLTK;@.l;J:Jifﬁ Efqugdlﬁﬁf’épdjpyﬁcﬁaﬂlf(l}:d'-;

| S eSSBS 3 S UsED | CBe A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided. :

11 (”"'b)(”zFab+bz)isequaito: | o _,‘__m(a+b)(a2_ab+bz) y
) (a+b) ®) @ -’ © (a-by o a+P
2 \/E = a% is a surd of order. _..;-_,.g;:b’\/a = a’vz f"lﬁﬁ' 2
(A) 2 (B) % (€) O (D) 1
3. A linear polynomial is of order: ,:;_t*n,f;:l(gx/?(&._u..{ 3
(A) 3 (B) 2 (€) 0 (D) 1
4. Factorization of (Jln?-’r-?})2 -4 is: | _ -g..u’f:lf (Jr:+3)2 -4 4
: (A) (x=1)(x+5) B) (x+1)(x+5) ©) (x+1)(x-5) D) (x=1)(x-5)
5. LCMof 12pq> , 8p” is: e Pk 12p°¢ , 8p” 5
(A) 24pq’ (B) 24p’q ©) 24p’q’ ) 12p°g
6. Solution set of |X| =3 is: ' RO 1 [x|=3 6
a) {3} ®) {3} - © {3 o {0} |
7. Any value of the variable which makes the equation a true statement is called: #.-;_Jmﬂf_/mh:.«ﬂfaupﬂd 03 .7
(A) equation =fsles (B) constant (€) inequality =bleg (D) solution
8. Solution setof x> =9 =0 is: | | -;;_.:.ff ¥x*-9=0 .8
@) {£3} ® {9 © {3} o) {9}
9. Solution setof x* +2x+1=0 is:’ o SE X +2x+1=0 .9
() {0} ® {1 © {-L+1} o {-1}
10. A matrix consisting of one row is called: _;;_twfmw,g._sm:u’-_jtx .10
(A) diagonal matrix /7 (B) column matrix..,ﬂﬁ'ujls’ (C) rowmatrix /66 (D) scaler matrix ..,-‘l:‘/.l:c
11. In matrics (AB)" is equal to: | -&sls (AB)f L Lude 11
(A) 4'B' (B) B'A' ©) 4 - ®) B
12. A triangle with no equal side is called: . _+8Mﬁ;zigék J,( K;I’-.s-.-if"@ 12
" (A) scalene triangle  &dAE UpyIF (B) equilateral triangle  &d={ U UiSsls
(C) isosceles triangle oAUl (D) right angle triangle &by sl /i2AF
) 13. The angle bi.sectnrs of a triangle are: . _ng_ﬁ_aﬂtiug;uiw 13
(A) collinear k37 (B) non-concurrent ,Ei!(?/:f (C) concurrent )//{,b?-ﬂ (D) perpendicular bt eT
14. Area of a square with side "S" is: :b”ﬁj.:b’m"S"C}"’ KJ"(‘,’;/L,-:I 14
(A) S° (B) 2S (C) 4S - (D) S |
z ; 15. Point on the axis do not lie in any: o | #tﬂu.‘fzjfdﬁ'ﬁmq;f 15
(A) plane (& (B) quadrent & (C) line & (D) circle »5hs

23-010-A-3¢



9™ S.8.C - (Part-Il) -A-2017
Roll No._ o Lot (For all sessions)
Group-II- l_-r.!/ .
General Mathematics (Essay Type) (Arts Group) zen(§° &JL) Y
Marks: 60 Time:2:10 Hours &% 2:10:=5 60:
Section -1 2x18=36 (,J?f,.-b |
2. Write short answers of any six parts from the following. 2x6=12 _q):rf:-Uﬂﬁ?ﬁfl:zlg.:_gf:'.g)i‘(jj@: e
i. Find P(=2)f: p(x)=2x"+2x* +x-1 - iy P(=2)
ii. Define rational expression. SISy A5 e i
_iil. Simplify: (6 +J§)(S -\g) a2 i
iv. Define cubic polynomial. _L{fh.g'_f/?J &E{iud v
v. Factorize: . | . a’bh’+512 uq/df vV
vi. Evaluate the polynomial for the value indicated. _q)f':"’.:.«f it L?;/?’#’affd: Vi
p(x)=x"+5x° —-13x2 - 30: p(-1)
vii. Find L.C.M. by factorization: 3a'b’c , 5a%b’c” LIPS Es i
viii. Define H.C.F. - S/ v i
ix. Find H.C.F by factorization: Opgr , 15grs S 5L SE i
- 3.. Write short answers of any six parts from the following. 2x6=12 -qngayiﬁﬁyﬁfthfagfadlfjﬁw 3
i, Solve. 3x+20 =44 S
ii. Solve. x-3|=5 | AL i
iii. Solve the inequality. 6-x>4 SIS i
iv. Solve by factorization method. ¥t —4x—-12 = 0 _q_'/d’d f:.y;; v
v. Solve . 2x =3x _ﬁzf’ V
vi. Write standard form of a quadratic equation. ,q&faxfdJyJal:wﬁz;:: Vi
- 2 4 )
vii. Find the value of 4D if: D = { ] 3} Ay Spdaed S 4D i
viii. Define column matrix. wqf._g/'f&_jli‘d K .viii
2 3 1 7 )
ix. Find the value of A-B if: A= ] 5|and B= 4 6 :ﬁu{/?':]"cué SA-B .ix
4- Write short answers of any six parts from the following. 2x6=12 _Qj:zfagiﬂf?ﬁpi?wa.&':;;ﬁgfjﬁu
.. Define congruent triangles. _J/._ﬂ/”d/ufitﬂdb-‘ i
ii. Draw a circle of radius 2cm with centre "O". | "0 LK u" b A LTE D, 2652 i
i Define tangent to the circle. | _L{fh.é;ﬂfuu'{.;_}b i
Iv. Find the hypotenuse of the right isoscels triangle each £|,)';"L,£/?':L"'}:g'&.ﬁ",:ﬂﬂf :.f’li‘u;-? WIS v
of whose length is "¢", S A A JUJCqu
v. Write the Hero's formula. . _&:_”L.f_f b3 v




vi. Find the altitude of a triangle whose base is 16em S 16wli'b’u‘3~.pj)f'}”6u'f}l£.i.tl Vi
and area is 34cm”. —e K85 34
vii. Find the distance between the given points. Q(-2,-1) ,P(-1,3) -qﬁ:‘”ﬁﬁd@:h’m@:ié_: Vi
viii. What is meant by non-collinear points? el Ue b613 A4 viii
ix. Define supplementarty angles. -q/_.é/j':ff:l}d}'{%’ AX
Section -II (9350 |
Note: Attempt any three questions from the following: 8x3=24 -L[);f;@'l,[ﬁﬁ@ﬂlrufa.dfc;.gﬁd OV
2 2
1 ]
5. (a) Show that: [z“'";] "‘(f*;] =4 Sttt (L) 5
(b) Determine whether or not the second polynomial is a factor of :L?;/?(d/}.’f 2:5—?:""/.:"-’;_':(5‘ ’ ()
the first polynomial without dividing. 2y* - 8y* + =45 y—d ..u:‘fg.:;.;zﬂ?;}fﬁ'g
| 2 _ 2. 4 4 . 6 6 " i} .
6. (@) Find L.C.M by factorization: =y ia-y ; X-y -L{/?PJI._H;H:E:..&{._){.(} Z () 6
5x-4 x-3 x+6
(b) Solve: TR S &S (L)
7. (a) Solve by completing the square method. x*—11x~26=0 -L{/J’C’;/J:; S () .7
(b) Construct a square with side of length 6cm. _w 256 é}(u’-é.lz@/..g ()
’ 2 3] [2 -3 [2 -3] (2 3]
I, 8. (a) |fA"___4 I ,'B‘_ 4 4 , then ;.ﬂ'B_ 4 4 JJ'A_ 4 1 /l(...i-'i).B
_k
Findout X where3X —24=8 3X -24 =B:»§-;LVF"]" A
(b) Use Cramer's rule to solve the simultaneous equation. _q_‘fg_f’f..:—.,hwrjf?.:.;g P /.:/ (._'_,)
| x+3y=1; 2x+8y=0
9. (a) Find the area of an equilateral triangle whose side is 6cm. _&EFJ"‘J;KJL.«;_(‘ 6L et (L) .9
(b) Show that the following points are vertices of . & LJld:L—ﬂ..the?Jj&;:fah{:.-;E (o)
'r' an isosceles triangle A(3,1),B(2,-3),C(2,2) —SULE el

i 24-010-A-26500




D & D (Part-II)-A-2017

(u:Ufﬁf)/:idu
: (Lus) A
(For all sessions) AR
ZU/'J: £K3iRg)
h:""L'? r’7 P
1)) P, 4
. :(EI:.__.»’I;L?‘J
L4 45 1
- | 15 /-",){ .
..ff{;r‘."w | L5t W/ L S K_afg{j:w.f. s (5((,5.:.; 24 U ..:-Uﬂd: L,JJIJ!”J.!f/'.}JH &
L ALY Rl oy
15 & BuBK (v ){l.‘.-l'.ﬁd‘-v"ﬂ-x’.l'_MJJh:Jﬁn-gc.u:;ﬂLq.fié'-J&Lfﬁiﬁﬁcﬁdh’ﬁ J
~ byt KJJ/E'( Sossss 1
3 (D) 2 (C) 1(B) 0 (A)
-GS ¥ =16 2
(x-2)(x+3) o) (x-4)(x+4) ©  (x-3)(x+3) g) (x-2)(x+2) (a)
| PHJAE LS
(Fy)(x=5") @ (x+2) (5 -xy+37) (©) (x-2)(x* +1+ ") gy (x=2)(x+y) ()
-€nP(a)inl 26 P(x)=x~a fi 4
a (D) ~-a (C) 1(B) 0 (A)
_g’ﬁﬂ(l)}ﬂP(x)zxz ~2x? +5x+1,fi B
1 (D) -7 (C) -5 (B) +5 (A)
- by onb i 26 6
75° (D) 45° (C) 90° (B) 180° (A)
S EILE Sk Probon; 7
1(D) 3 (C) * 2 (B) 0 (A)
LCMxHCF
= 'L?u.”; .8
Hhexfistons (D) Jidkes (C) ke (B) 121, (A)
S m UGS
3 (D) 2 (C) - 0(B) 1 (A)
-t LWL 2 B 153 AL 10
0 (D) 1 (C) 2 (B) 3 (A)
et AR A
55 (D) V8, (©) Loy (B) B (A)
| ' dn:;.,?JJK\/Ezg}é(ﬁJlﬁ’ 2
L (D) 2 (C) 1(B) 0 (A)
2 Gl G
¢ e bW rte i S on Pl AL 13
s, (D) Wt (C) A (B) AL (A)
s .f,sl.ag 2.!:3_]33,4.1‘2}'4 14
2’y (D) 8x°y* (0 4x*y’ (B) 2x’y* (A)
| _,f_dgi_.i[,bl;jbf 3x2y2, 2xyz 15
6xy”z" (D) 6xyz (C) 6x’y*z (B) 3x°y (A)

* D-61-010-A-400



Roll No.

;:_/.EJ.P"JTJ.{-_JF

36

24

D & D. - (Part-Il) -A-2017

(For all sessions)

-l

L
6)A2-D) 1 Y,
2 1:45:25

60 : S

Sl

_aegg,;mz'..:,uw(s)ﬁa.éf;.wdim -2

h S L Sl fisbens |
L SIES G i
Lelai Ly e, i
LBl f5 i

6pgr , 15grs _yy o fai v
e A $ B i
yz , X'z, xyzt g S oA s i

S &L W8 vii
-3 2]

WD sk s B = i
u“’U:/KB-.TJbe:‘ﬁ |:5 4 N ix

—u:flﬁ:ﬁﬂu.‘.’q.éﬁlj:"fﬁ} X
| 2 4]
Kl P BTE A I A = [3 6 N xi

ahxy ,azbc,qz?;"’f’l;bd f,.;_u.l; Xii

(93 >

_afdgyﬂﬁamrcfc;ﬂ/:,utdjjzmuu’
e p() 3 p(x)=x" +3x"-5x+9 /i 3
ax+ay—x* —xy .y Jp#3 fe iz 4
LBl S B

l4a’be , 21ab® _of /e iisss 6

%__gqﬁ,wm@:_@f 7

D-62-010-A-400



@ S8.5.C - (Part-I1)-A- 2018

RollNo. o St (For all sessions) PaperCode | 7 | 2 | 6 | 3
Group-I- 1..-'.!/ ‘ . .

General Mathematics (Objective Type) (Arts Group) (Lﬁ/*)(f Lxd Y

Marks: 15 Time: 20 Minutes L+20:=% | 15: 4

A gdedizey: '».".amh_:..«f.rr.._.«fﬁu%:L}jzé_JDJ:f.C*B.A::fLfﬁ;ﬂ’:_‘l_v&db’ﬁéﬁ’q;q B’dfﬁu:?/’d{ﬁ:;[flﬁﬁ&wrrﬁ:dfﬁ
U e SIS 37 S sIED L CBe A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
Guestion with Marker or pen ink on the answer sheet provided.

1.1. The angle bisectors of a triangle are: AL Ukl 14
(A) concurrent /‘Cfr,;i;ﬁ Lt (B) collinear L34 (C) perpendicular »f %27 (D) Non-concurrent bﬁ,{
2. Area of a square with side "S" is: —e by ke "S" é" KU B 2
(A) S (B) 4S (C) 28 (D) S’
3. Point on the axis does not lie in any. -t‘xuﬁ"wd{bﬁ:ﬂf{ﬁ 3
(A) plane (s~ (B) line & (C) quadrant . (D) circle 715
4. @ +3ab(a+b)+b’ is equal to: | _ﬁ__{,_{a3+3ab(a+b)+b3 4
() (a+b)’ @) (a-b) ©) @ +b O @b’
5. Anirrational number that contains radical sign is called a: _+twﬁﬁww&ku¢ue:ﬁytffug 5
- (A) mixed surd s (B) surd s (C) rational number st (D) natural number s
6‘. " A cubic polynomial is of degree. ,1.7_4::;,.;;:&;’;/‘:"{;,5’.;;.,-4 6
(A) 0 | (8) 1 - (C) 2 (D) 3
7. Factorization of (x+3)l—4 is: _;;-_df."d/ (.7¢'+3)2 -4 7
(A) (x+1)(x+5) ®) (x-1)(x+5) © (x+1)(x-5) @) (¥-1)(x-5)
8. The product of two expressions is: ) -.g_t':fh..fﬁd” bbfuﬁd/%h: 8
(A) HCF (B) LCM (C) HCF x LCM (D) HCF + LCM
9. For each number 'x' the absolute value of 'x" is denoted by: _.ﬁt.t/quFf:.‘E Nl 'x'sks 9
(A) X ®) | (€ - () 0
10. Solution set of |[x—3|=5 is: | | —eerf¥|x-3=5 10
(A) {-8.-2} B) {8.-2} ©) {8.2} o) {-8.2}
11. Solution set of x* =1 is: e ¥ ¥ =1 .1
@ {1} ® {-1 © {i} © {1}
12. A linear equation in one variable is of degree. . -4:;,;;;6’..:I:L-«;J" d/f"._g 5 b
(A) 3 (B) 2 (C) 1 (D) 0
13. A matrix consisting of one row is called a: e b AE LS A G 13
_ (A) row matrix JFSE  (B) column matrix h_)[s"u} K {C) identity matrix ‘.‘JG'GIJL_!/" (D) scalor matrix .TJli‘/.‘:C
14, In matrices (AB) =2 ¢=(4B) LLudv 14
(A) A (B) B € 4B 0) B'A'
15. The sum of the interior angles of a triangle is: ..;;-_I::rf,..::f b’ugs!jg}uﬁi&ﬂ 15
(A) 90° ®) 180° ) 270° D) 360°

21-010-A- 3¢ I



5.8.C - (Part-II) -A-2018
(For all sessions)

Roll No. o Sosp M
Group-I- 2 | @ .
- General Mathematics (Essay Type) (Arts Group) e’ _L.Jd 7
Marks: 60 Time:2:10 Hours &5 2:10:=% 60: /7 :
_ Section -1 2x18=36 Jil o | !
2. Write short answers of any six parts from the following. 2x6=12 -Jﬁ)}fd‘-ﬂ”ﬁﬁé—f'ﬁfﬁﬁ_JJ(LL}:JHJG/JJ s l
i. Define proper rational fraction. : _a'_,i(._.yf&l&’&”l:..,:;u N
v :, 3 .
x —=35x+6
i Find P(1), if P(x)=—07 Sz P(1) i
; : 82 yz oa ‘ '
iii. Simplify: 125"y _a:i-(ﬁf i
iv. Define cubic polynomial. | _a_i(..éj /U A Cnt v
v. Factorize: x*+5x~-14 -g-%fh v
] .
vi. Factorize: 8x’ Y] JASE i
vii. Write down relationship between H.C.F and L.C.M. _uf@w_w&ﬁ;wﬁm (E’I;L; Vi
viii. Find L.C.M. | 21a°5’y , 35a%x'y , 28a’xy’ S Pzt i
. ix. Find H.C.F. 14abc’ , 8a’be , 6ab’c - g A ix
3. Write short answers of any six parts from the following.  2x6=12 (/22 L izig el tiditn 3
- i. Define law of trichotomy. ROy A Or
' ii. Solve . 3(2x~1)=5(x-1) S
iii. Solve and check. | | 1x +1] =35 _.‘gviltf;_ulgrd" Rl
iv. Solve by using factorization method: 5y = x> +6 _L{f(ﬁ:.é":. P f v
v. Write a quadratic formula. . _u:"grl( Keelsla(Bssas v
vi. Solve . 2x? =3x -q_’fJ’ Vi
vii. Define a square matrix. LSS, i
1 x a 2
viii. Find A-B if: 7%= L | 4—} s B [ 3 b} SiepiAB i

| 6 2 )
ix. Find determinant if: A= ) :)’I’é}”ﬁ” X

4- Write short answers of any six parts from the following. 2x6=12 _Lﬂfficngﬁﬁ’?ﬁﬂzliL—Jf:’..-ufutiﬁw -4

i. What are the adjacent angles? SurEvillslihe |
ii. If two angles are complimentary and larger angle is four times bigger uﬁ_lfﬁé_:ui_.y{,:dlﬂkmuﬁd FAYE_alisn /1 i
than smaller angle. How many degrees are there in each angle? CErl sk sl 5Ll 9
" iii. What is meant by congruent figures? ?,;_;yg‘;Js’;:njw i
iv. What is meant by tangent to the circle? el e UL ih iv

v. What is meant by incentre of the triangle? ?:;_;ygrajﬁ}frébﬁdr RY



vi. If the legs of a right angled triangle are 2 ab and a2 - b” prove that = b 3Usa? - b® »i2ab Cil.faluf.&,b"‘,:;lﬁrﬁﬁ‘ﬁ Vi

hypotenuse is a? + b®. vl @t bEJL,JJ_F:.J’ E:*i(

vii. What is meant by concentric circles? '?:E_Jl,/,lfc-_.u:ﬂ;?}(? vii
viii. Find the distance between the given pcrints.- (7,2).(2,3) _’:_.ri’r/':"’.l-ﬂléuyudibiﬁf-.fé_.: Vil
ix. Define an equilateral triangle. | | Héhy ﬁJ@lﬁLMU!d;Ln_gT X

Section -II (2>

Note: Attempt any three questions from the following: 8x3=24 _Q&/{:ﬂi{lﬁﬁ:ﬁmygﬁ:.‘jf:-dd 3029 WLy

2 3 PP Y
5. (a) Find the value of (X*=¥) it xy=-16 . x*+y* =86 g lpaid (x=») () 5
(b) Factorize: 64x" —xa® ,q’fdf:* (=)
. 6. (@) Find square root: x(x+2)(x+4)(x+6)+16 S8 () 6
(b) Solve : y=0+ \/; =0 ..f;_f(d" ()
7. (a) Solve by the completing square method. x*+6x-3=0 JAS el /!’ZC’;/IJ.F ) .7
(b) Draw an equilateral triangle each of whose side is 5.3cm. ST 5.3{_‘}}5’;}’3@_ bl ookl (o)
t : _
I ul — 3 4 = )
' 8. (a) Find B7 i Bl S , Sz B (L) .8
(b) Solve by Cramer's rule: x+2y=3; x+3y=5 diSes M xS (o)
9. (a) Find the area of the right angled triangle with S 12&mi;;£fg§?w;;rw,,uﬂm’w () .9
legs 12cm and 35cm LS HSF35

(b) Show that the points A(6,1), B(2,7) and C(-6,7) are ﬁ,mmdm/f,g'::(-e,?)ma(z,?}:A{B,1)1,1-5;1’.@_6;& ()

vertices of a scalene triangle. Y (PO

22-010-A-



W

Roll No._

S.8.C - (Part-1I)-A- 2018
(For all sessions)
Group-II- i.;-:;
General Mathematics (Objective Type) (Arts Gro up)
Marks: 15

r - ]
e ______,__r_/‘:q.::".zlsgl

PaperCode | 7 | 2 | 6 | 4

L .
* L
W b %
Time: 20 Minutes &2420:23s 15: 4
A S QR s Y2 et E D, C B A L Jivy gq;(éb’@ﬁﬁffdm_L!ﬁéaﬂlrrﬁ:.:.,)
- ' ' e S e S 3e JE LD | CBe A sz L
}\IOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B.C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.
1.1. The number of medians in a triangle is:

(A) 1 (B) 2 (C) 3
2. Volume of a cube with edge "{" is:

(A) (* B) ©) 3¢
3. Points lying on the same line are called:

(A) non-collinear 1%#  (B) collinear B (C) equal (sl

2 2

4, (ﬂ""b) —(ﬂ'—b) is equal to:

(A) 2(‘?2”’2) (B) 4ab () —4ab
5, (”"’rj)(az "'“b'*bz)fs equal to:

) (a-b) ®) (a+b)" © a-b
6. A linear polynomial is of degree:
(A3 (B) 2 (C) 1

2
7. Factorization of (x+3)" -4 is:

(A) (.l'+1)(l'+5) (B) (I—I)(I'FS) (c) (I‘[‘l)(I—S)
8. The number of methods to find L.C.M are:
(A) O (B) 1 (C) 2

9. An equation that can be written in the formax+b=0, a#0
where @ and b are constants and X is variable is called:

(A) Ifnearequatinn:.rl.apub" (B) inequality »:JJL-"/“;? (C) solution f

10. Any value of the variable which makes the equation a true statement is called: _.iaauff«_/qkwxjfalsvﬁa{"u

e Bl Ul fado (i 1.1
(D) 4
" L" ub”biﬂf?(__»(...g 2
©) ¢
_ug.?_u.»@ﬁ}grgﬁw_ﬂ 3
(D) overlapping J’l’/
--;_zlx(”+ b)z ‘(““b)z 4

(D) a’+b’

e (a=b)(a +ab+Db?) g

D) a’ +b
_st’_t'.ﬁ,.?;}b"r}.r/ffd.u-! 6
(D) O

_%df:‘d’(x+3)z -4 7
@ (x=1)(x-3)
BB SLE S Pibens 8
(D) 3

;.T_.(jﬂlfu"gu!..:uf’tfa¢ﬂﬂrax+b=U;«:_—;r,p 9
_%J&Qjﬁxﬂu;wﬁ""b;aﬁ

(D) constant

10
(A) equation = lsi (B) inequality =il+# (C) solution (D) variable /2
11. A quadratic equation has a degree. —cbrtonbetsbaBin 11
(A) 2 (B) 1 ) 0 (D) 3
12. Solution set of x> ~9=0 is: _.—‘:Hi_*ﬂ:fhfxzh‘}‘:() 12
. & {9 ®) {*% © {33} @) {3}
13. The number of rows and columns in a matrix determine its: _:‘:_J):«;u:;':-___w;.,ﬂﬁ'd{ﬁ(fu:) KU 13
» (A)order = (B) rows (/& (C) columns HS’ (D) determinant &*
-14. A matrix consisting of one row is called a: -.;_mﬂnw..g._sﬁu:wgm, 14

(A) column matrix /6§ (B) scaler matix JEAS (C) identity matrix Ed54,2 (D) row matrix  SFGAS

15. The sum of angles of triangle is:

(A) 90° (B) 180° (€) 270°

23-010-A-T4 W

e brnest Kyl ek 15
D) 360°



S.8.C - (Pari-1I) -A-2018

Roll. No. o b (For all sessions)
: Group-1I- ‘..-.!/ - .
General Mathematics (Essay Type) (Arts Group) (,_,:wr)d“ljd A
. Marks: 60 Time:2:10 Hours &£ 2:10:=% 60: /7
Section -I 2x18=36 Jilo
_ 2. Write short answers of any six parts from the following. 2x6=12 _qﬂffaQlﬁﬁyﬁpfzfg:.zjf:_ut‘f_.i&;: 2
" i. Define rational expression. ] _L{f_.y/UE_JJ’t N
i3 2
i. Find P(=2)1f: p(x)=2x"+2x" +x-1 Sy P(2) i
iii. Simplify: 4+/50 ++/200 ++/50 | -r‘%‘é‘? Al
iv. Factorize: 2a° —bc—2ab+ac _qéfjf v
v. Factorize: a+b+a+b ..q_’fdf v
vi. Define factor theorem. _’4{.5!/‘:’&6/:1# Vi
vii. Define Highest Common factor (H.C.F). _L{f_éﬁlfrﬁ’lgb Vil
472 3 2735 Z
viii. Find L.C.M. - 3a’b’c , Sa'bc S PIssens i
- ix. Write methods to find the square root of algebric expressions. _pfﬁé.)ZL/?}”;nguﬁd/%f iX
3. Write short answers of any six parts from the following.  2x6=12 -(/ZfelinL 121z e St tsbn .3
" i Solve. | S5x—6=4x-2 —2_,.?(()7 i
N ii. Define absolute value. ﬁcg:.ngaé'J&' i
- jii. Solve. x=3|=5 g/ i
iv. Write the formula of quadratic equation. = .“:'-,‘{f B tsls(Ssss iV
V. Solve . | x* +4x—77=0 S
vi. What is meant by matrix equality? sl e SEils i
I x a 2
vii. Find A-B, if: A= [ , 4} B = [3 b} St B i
viii. Solve: 3x? —8x—-3=0 _"4_?:)’ Vil
ix. Define diagonal matrix. _4@;'{5’.._;’5' 7 .0X
4- Write short answers of any six parts from the following. 2x6=12 -q&;pyfﬁf?ﬁpizlga.éﬁdbtjbu -4
i. Define cute angle. _Qéi@ /""Lf:;un.slp 3
ii. Define radial segment. _QE-ZE;JJB‘JIM i
iii. Define altitudes of a triangle. _g_iiny EEsL et i
# iv. Find the value of X in the given triangle. _%F#’ X d&,ﬁ‘fd; Y
a5




v. Draw a circle of radius 2cm with center O. _.’r:__h,;O}ffu.‘FiJKny}fJ::u WV

vi. Define Hero's formula. u.‘i_";:.é’fTJﬂf‘fﬁb/j Vi
vii. The sides of a right angled triangle are 5cm and 12cm. Find the I HEEF 128285 5 Ul el =26 60 vii
hypotenuse, _QI'F’:J"JLJJ s
viii. Find the distance between (-4 , 3)and ( 2, 1). _#fr/‘:"’,l-vliuuv.uﬁm , 1)asl(-4 | 3) .viii
ix. Locate ( 8, -3) in the co-ordinate plane. _L{):qw{dﬁfd;ﬁf (8,-3) .ix

Section -II (232>
Note: Attempt any three questions from the following: 8x3=24 _Qéfmyﬂ&aﬂfrcfc-éfc-ufd P ROY)
1 . y . 1 ]
5. (a) Find the value of ¥+ —and X" + 7 if x=+/542 :ﬂq/?P;{JI2+I—1;:IX+; () 5
(b) without dividing determine whether the second polynomial is :L?;/?/d/uf 4_??#’/3’4’:&;; (n,--)
X 3 ) ; -
a factor of first polynomial. 3x"~2%" +5x—-6 , x-1 _JL:;_:HKJ;/‘_’I 14

6. (a) Find the required polynomial. B = %A = x*=5x=14;H=x-T;L=x"-10x* +11x+ 70 g G 6

x+1_x+3 x+1

(b) Solve: 2 3 = 4 +1 o .’:_'{J’ ()

7. (a) Solve by completing square method. ¥ +6x+2=0 _J_/J’z__.:jzid/'_):; () .7
(b) Construct a square with each side of length 6cm. i HEEB éfr;ﬁb”*é—hd/.ﬁ ()

8. (a) Solve the simultaneous equations by Cramer Rule. _Qfd’fu?bu:w.:._?_)’iﬁf () .8

2x+y=1; S5x+3y=2

x+3 1 2 1
(b) Find X and JV |if: |: 3 3}*"—‘4] E{__g, 2j| -u_'_’.f'f‘sj‘" Y sl x (._.,)
9. (a) A rectangle field is of length 40m and width 25m. Find the {JL{_/}'-{25JT}J’?JJLH4UJEJJ:LUF¢EJ»Q () .9
total cost of turfing the field, if the cost of turfing the field is @ﬁ(i.bﬁmf,?_pj/ﬂ”@ﬁﬁ_fﬁglf
Rs.16 per m°. _i;.}:d/&%_;;1a
(b) The vertices of a triangle are A(1,1),B(5,5) and C(9,1) Prove that U C(9,1)4/B(5,5)A(1,)Ublels ()
the triangle is a right angled triangle. | el M=t L1 S ;,{/.::,E
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D & D (Part-1I)-A-2018

(Lurse) s
(For all sessions) ko
L vk
et |
' (U'Z/")IIL;{ .
v = :rbt..__ﬁtHf":
L4 45 1y
15 /’J
il Nzl Sk 2 e L = G214 g4 S1ebz £ Uyl 72 o ot
A PP i T ISP
10 -z OuEK( v’){..,«L&:.ﬁ:..ﬁ'_.Mﬂflﬁbg:.uﬂuﬂ.qfix’:.:@yﬁ;fﬁﬁJL!-"/; (1.1

% ) (ﬁ/f/d,ﬂf A

3 (D) 2 (C) 1(B) 0 (A)
_%J'MHJQ:‘Q/J’LL)?JL”%& 2

3 (D) 2 (C) 1(B) 4 (A)
-::‘"_h:.f/“’u('ﬂlagu)f"?u 3

Aexfiibats (D) A+ Pl (€) Sioibzns (B) Ak (A)
el -l:LoE»’IZ;Jqulq 4

4p°q (D) 4pg® (c) 4p’q® (B) 4pq (A)
) (a+b)z+(a—b)2 =7 5

2(a® +b%) (p) 4ab (c) a’+b° (B) ~4ab (A)
...T_.tﬂ,.;;;?,{,m;ﬂ} 6

360° (D) 270° (C) 180° (B) 00° (A)
_.n:;_,..?JJK\/Ezﬂl/g r"’blﬁ’ B

% (D) 2 (C) 1(B) 04N
SELLL S B 8

4 (D) 3 (C) 2 (B) 1 (A)
..;*:;L&B'..g...i/ufu::\__.»’fi' 9

LA (D) Edd4 (©) ES¥ (B) VS5 (A)
_Q.JMJELSE:;:.FI;....EA 10

4 (D) P (C) 7s (B) AU (A)

05 - bbbt ditn (L)

; oil?
-:E’._t'llr(____}?g FZJJTEH'UJL)”UA:KJ{:JE\.{! ko

(a-f—bz)—(f.r-bl):

i

________ e bl b e S sm P Sl 13

e, 258 *fa:ﬂ'z—f“’mﬁ 14
sl e .?JJKJE#/::’:?JJ«.{ 15
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D& D. - (Part-11) -A-2018

Roll No. "  Sspisu (For all sessions)

-l

€724-D)1 Y,

5 1:45:23

60: /4 F

Jilo

36 ..ﬁgﬁglﬁd::fﬂlf(g];c-éfc.-bfdiéﬂ -2
el e Apesf

L i

Ce_dnlferbeSie i

S S s v

Stk GG A v

A v

el L IESK il
L iy vii

Sl Ve BET ix

1SS AS ¥ -9 x

S E xi

SIS B i
SIS BPE NS i

(93>
24 _z,-ed:,y.eﬁ.;uwmf:fdfc_.bﬂdjau:@ﬁ
) 3

IB;T% SIS eSS oML s 3
%_@;ymd@;@; 4

u%_b:ﬁllcﬁ%(—é’;J:JUgﬁ .6

(3 [2 & a (2 -1 3 5
A= 6|,B=|6 5|,C=|b|.D=|4 6 5|,E=|7|,F=[07 -4].eesefoeds 7
0] |47 | |2 3 4 |4
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jﬁ( S.S.C - (Part-II)-A- 2019
R_O”NG. _______________ e S (For all sess'ions). PaperCode | 7 | 2 |6 |3
ﬂ Group-I- ] .
General Mathematics (Objective Type) (Arts Group) (u"s/')(f LJJ/
Marks: 15 Time: 20 Minutes 2420:5s | 15,4

PO LSRR ‘MJJE:..#T!(\._..«fﬁu)‘rUEEEEF.JDJJr,C,B,A&E'ﬂ:ﬁﬁkédffﬁgq;(é eSSzl e tvpie s
S S SIS P 3 S LD | CBe A sze L

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. The number of angle bisectors in a triangle is: _q_:w"&_iftf.ugﬂju!&lﬁ 1.1
(A) 4 (B) 3 (C) 2 (B) 1
2. Volume of a cube with edge '(' is: -:.:'_(‘:,E'Jlﬂ'f'f;l:fﬁu”-_fq.ﬁ 2
(A) ° (8) £’ (€) 3¢ (@) £
3. d =\/(x2 —- X, )2 +(Jp"2 - ¥ )2 is called: _q.t*Llfd = -\/(.1'2 —xl)? +(, —yl)z 3
(A) distance formula . K¥leb (B) collinear points b4
(C) non collinear points bEL/Z (D) equal points LGSl
4. (ﬂ—f?)z + (ff"'b)z is equal to: -.:;...a:u(ﬂ‘"b)z +(ﬂ+b)2 4
(A) —4ab (B) a’+b° (c) 4ab o 2(a*+)
5. The simplest form of /147 is: -{_fu{}ﬁ'{,{ 147 5
(A) 147 B) 73 ©) 37 D) 21
" 6. Factorization of x* —9 is: i-f_.d)fﬂlf x*=9 6
(A) (x=3)(x+3) ® (x+3)(x+2) (€ (x-3)(x-3) @) (x-9)(x+9)
7. A quadratic polynomial is of degree: - bronk L?;/i*f_wu i
(A) 0 (B) 1 ) 2 (D) 3
8. H.C.Fof 6pgr and 15975 is: . ek 15g75 4 6pgr 8
(A) 3qr (B) 3pgr (C) 3pgrs (D) 15pgrs
9. Any value of the variable which makes the equation a true statement is called: —%Jﬂfﬂz—fwﬂfahbu’g’f;«g 0 .9
(A) equation =l (B) inequality =hleF (C) variable 2~ (D) solution
10. Solution set of [x—1|=4 is: e x=1=4 10
a) {5:-3} @) {-5.-3} © {53} @) {53}
11. Solution set of (x—2)2 =4 js: ,c;_qd’b' (x—2)2 =4 11
) {0,4} ®) {-6.2} © {62} @) {2.6}
12. The number of techniques to solve a quadratic equation are: e PLo S atslaBams A2
(A) 1 B) 2 ©3 (D) 4
13. fA' = 4, then A is called: et Adn A =40 13
(A) symmetric matrix AFE (B) skew symmetric matrix .._.«-'G‘Lfi.‘:*",-,,"*
(C) transpose matrix ..,Ji?}::_.jij (D) square matirx JEG.,
12 6 12 6
14, IfA :[ 6 3]then det.4 is equal to: Busls dE:t.A?:fA = [ 6 3})? 14
(A) 0 (B) 6 (C) 3 (D) 36
15. A polygon with four equal sides is called: -@JMUﬂd:PCW'UJJELJZC»W‘U'/?/ﬁ 15
(A) triangle & (B) parallelogram { =S5 (C) square (o (D) rectangle Jf’p
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S.8.C - (Part-I1) -A-2019

Roll No. o i (For all sessions)

- Group-I- ..___..r,!/r . .
General Mathematics (Essay Type) (Arts Group) e’ LJJ}Z
Marks: 60 Time:2:10 Hours £ 2:10:5% 6{}:/-;2

Section -1 2x18=36 d.'ii,.b
- 2. Write short answers of any six parts from the following.  2x6=12 _(/.2A=liz/ L Wtz e $lefifstn 2
: 2 2
=2 " —4 : "
i. Simplify: i ; JZ
x+1 x4+ 2x+1
3

ii. Solve by formula. \ (zp +q) SIS esalurs i

- Rationai . ' A Ty

ii. Rationalize the Denominator. \EJM.@ - LR A i

iv. Factorize: . xt42xy+ y2 —-42° U v

v. Factorize: ¥’ +5x-6 _L{,JF‘PL_}/J’LIHI V

vi. 1f p(x) =x" +5x* =13x* =30, then find the value of p(-1). ¢ p(=1) 3 p(x)=x"+5x° =13x* =30 1] i
e

vii. Find H.C.F. 4abc® ,8a’be,6ab’c S i

viii. Define L.C.M. - I PSPz i

ix. Find square root of: 16x> + 24xy +9y2 _q/?#é/u,:f X
3. Write short answers of any six parts from the following. 2x6=12 _q&fagrﬁﬁ’fiﬁrzg.ﬁ.@’;bﬂq;@; b

i. Solve . : 3x+20=44 | _L)_’/U’ A

ii. Solve. | Jx+1=3 AL i

iii. Define linear inequalities. LGS BFEL A E i
~iv. Factorize. h ool e 412 =0 _L,jf{j'f." AV

v. Solve . X2 +4x-T77=0 _J"/U’ v

vi. Solve . 2x% =3y U i

vii. Define Non-singular matrix. SIS BAS6CS ii

5 2 ) 5 2
viil. 14|10 4| . then find det 4. i detdyd=| | i
1 2 -1 3 ,o

ix. Find the value of 4B if; 4= 3 9| ¢ B = 4 9 ) jf#p‘”’:#jlfAB iX
4- Write short answers of any six parts from the following. 2%x6=12 _Lg_’;gfalz!ﬁ/‘?ﬁmi{:,éi’:.dJj&m -4
.. What is meant by vertical angles? ?.-.;ﬂ;r,»g_f,-_ug,-ugu A
ii. Find the value of X in the given triangle. uSe i x e §

iii. Define parallel lines. S S B i




Vi

vii.

Viil.

[X.

. Define tangent to the circle. -L,g/...@;;"’Juumu R
. Draw a equilateral triangle.with length of each side 4cm. ,ﬁﬂﬁzﬂépﬁ‘}émguﬁawr@p v
Define area. | | _L{f..;n_fﬂfj.e Vi
What is meant by pathagoras theorm? ?t';‘_JLf’!_u_-rL-bJ;’ [POR]
Write down the distance formula between two points. -gﬂ:rh/aﬂ"’ﬁwk’ﬂéﬁﬁ;u Vil
Define origion. 1 ' _L{/f..éf/;"d;fy X
Section -II (43>

Note: Attempt any three questions from the following:  8x3=24 -(//77=Wzl = irfe e St 5t 129

5.

2 2
1 I ._ ]

(@) Find the value bf(ﬁ‘ + ;J if: M V10+3 Sy Spaci§ (f’-’ ¥ ;J () 5
(b) Factorize: - : x'+x" +1 JI8E (o)
(a) Find the H.C.F by division method. dxt il e+l _L,:/‘?‘:l”(HCF)fﬁiblac_,Jj/‘f’cC(-Tﬁ () .6
(b) Solve - 3(x+5)>2(x+2)+8 _aﬂ_{‘_}" ()
(@) Solve by completing the square method. x*=10x-3=0 S )’{.C’;/J:{” () .7
(b) Draw an equilateral AABC in which JpﬁgﬂBCiﬁbﬂ#U%Vuﬁ ()

mAB =mBC =mAC =5cm . Draw its altitudes. _g AL 1. mAB =mBC =mAC =5 25

p 2 6 -1 -3 ¢

(a) Find (4B) =B'4" ¢ A z[? g] c Bz[ 5 0} Siggp(AB) =B'A" (L) 8
(b) Solve using matrix inversion method: 3x-y=10; 2x+3y=3 SIS 3 L Iy (o)
(@) Find the volume of a sphere with radius 3.5cm. e o i 3.5Jlul{u’-p§/?}"f s (N .9

(b) The vertices of a triangle are A(1,1), B(5,5) and C(9,1). Prove £ 3U»C(9,1).5/B(5,5)A(1, 1)U &L (u;.»)

that the triangle is a right angled triangle. ESCH W5 Py (W 1 g/
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YA @A ¢
RollNo.

= r__)r:r,:}.rfr,u_.-'f

Marks: 15

S.5.C - (Part-1I)-A- 2019
(For all sessions)

Group-I1- .f,vf
General Mathematics (Objective Type) (Arts Group)
Time: 20 Minutes 22420:25

PaperCode | 7 [ 2 | 6 | 4

B A
154

A (383 s W1z P L £ D CB ARG L U 262 P T S e L il 9

S e S SN S Slsre SfUsED | CBe A sz L

_ NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

" 1.1. The number of altitudes in a triangle is:

(A) 2 (B) 1
2. Volume of a cube with edge " (" is:
a) [ (B) [

3. Points lying on the same line are called:
(A) non-collinear br‘y{ (B) overlapping J‘I"'

4, (ﬂ +[J)2 i (ﬁ' ““b)zis equal to:

(A) —4ab B) a” +b°

5. ”3_3”5(‘9_"5)“[—}3@ equal to:
() @’ +b’ ®) (a-by

6. Factorization of x° *J?a is:
(A) (x*y)(xz + Xy +}:’2) B) (x—y) (;;1 +yz)

7. A quadratic polynomial is of degree.

Sl EdE L 1.1

() 3 (D) 4
_ﬁ"f"b,MKu%ZKJ_gT 2
(c) r* (D) 3¢

_q‘ri_llp@ﬁigu{,!:ﬂﬁhg 3
(D) collinear L%

e a(a+b) +(a-b) 4

(C) equal (b~

() 4ab oy 2(a*+0%)
_‘L_,_.,J_.HE—Bab(a—b)—ba 5
©) a-b (D) (.t:1'+z’J)3

q..:::.t_ff;J.l‘j'"yE .6
© (-»)(*¥-w+y") @ (x+y)(x*++)7)
_c;L..t'ﬁ,?JJb/L?J/gI'L;JJ o .7

(A) O (B) 1 (C) 2 (D) 3

8. LCMof 12p%q* ; 8pis: Lok 12p°g% 5 8p” 8
(A) 24pg’ (B) 24p’q ) 12p%q.° (D) 24p°q’

9. For each number 'x' the absolute value of'x' is denoted by: _;;_tngS;U?IJJ“’J "X ks 9
(A) X B) || (C) 0 D) —*

10. The solution set of x| =3is: e e f¥|¥=3 10
) {13} ® {-3] ) {0} o) {3}

11. The solution set of (x—2)" =4 is: e ¥ (x=2)" =4 11
®) {-6,2} @) {0.4} ©) {-6.-2} @) {26}

12. The number of techniques to solve a quadratic equation are: "y )’LL/J:(QHL—*L;;J 3 .12

(A1 (B) 2 (C) 3 (D) 4

13. A matrix consisting of one row is called a/an:

_..:;_FMKJI&?‘.{?J/’U:U%H)W 13

(A) row matrix B (B) column matrix J5¥ (C) identity matrix S5 Ji38~ (D) scaler matrix JEAS

[
14. In matrix (AB) is equal to:

. A4 (B8) B
15. A sfraight angle contains the degree.
(A) 270° (B) 180°

ez (AB) 2. Lusds 14
(D) B'A'
4.5;_t:~f,.;;;5’£ﬁ,u 15
(D) 360°

(C) A'B'

(c) 90°
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Roll No.

bt FFN A LT
TR RN R LT

(For all sess‘:ions)
Group-II- 2

L #
f_/(;}_-?’,rl:.;_._fl

General Mathematics (Essay Type) (Arts Group)

Time:2:10 Hours &£ 2:10:=5s
Section -I 2x18=36

Write short answers of any six parts from the following.

Marks: 60

i. Define rational expressions.

4- Write short answers of any six parts from the following. 2x6=12

i. The sum of two angles is 100°, the supplement of the first angle exceeds
the supplement of the second angle by 40°. Find the angles.

ii. What is meant by vertical angles?

iii. Define parallel lines.

cenhad 2

60:/:2

Jil o

SISt

- Y I
i Find 2 (0) i p(y)=3y"+2+9 Sizgps (0)
2 .
iii. Simplify: Na S
iv. Define quadratic polynomials. _L)__’/hé{;?dll?x/‘-ff[ﬁm;
v. Factorize: 3ax + 6ay'— 8by —4bx qL{/(_S-/.; .
vi. Factorize: k*-81 JSEE i
vii. Define Highest Common Factor (H.C.F). iQI_@ﬁJfEﬁ:b Vi
viii. Find L.C.M of. 2ab;3ab,4ca A P sns
ix. How many methods are there to find H.C.F? Write names. _uf?tfggaﬂﬁz‘fﬁé_)?)"rﬁﬁ;b N
3. Wirite short answers of any six parts from the following. 2x6=12 -q/grfaylﬁﬁ?.f.plziga.éfc_u.‘.'d_’jb.u ,
i. Solve . J3x+4 =17 _L{fd" N
. ii. Solve. 3(x+3)=14+x A
iii. Solve and check: ’3x + 4| =2 —%DV:;JJ‘E_?;P
~iv. Solve . X2 +4x—-77=0 JAS
v. Solve by using factorization . 5x*-6x-8=0 _ijd"d ;f-,;:u.} :
vi. Solve by using factorization . 2x = 2 +3 UM f:.g_u@
X .
vii. Define scaler matrix. SIS I
-5 —2”-2 1 o
viii. Find the matrix product. 1 3/lo -3 _’_;Ir':L”‘.._.ffJ" LEE
H V -
ix. Find determinant. L y} A

2 ez L g = S S 3T

it 6o skt e 1000 47K Ugstins |

_g(-@b@_,;r;_{_ug;4o"¢_.:aﬁ”£{_.su
‘e sl e Uil
S35

2x6=12 _y Sz feliz Ll ntg e (e Ltitn 2

A

ii

ii

v

i

K1Y

Vi

Vil

Viii

X




Vi.

Vil.

Vil

1X.

Note: Attempt any three questions from the following:

5.

. Draw a circle of radius 2cm with center "O".

(b) Use Cramer's rule to solve the simultaneous equations.

. Define tangent o the circle. ~JIS@ Sl

Define area. ysyis)

Find volume of a rectangular box with length 4m breadth 3m and 30z H 4JHJJZL{/?':I"’z B
height 2m. ¥l ZLEL;__*':r
Write down the distance formula between two points. _c_{fﬁ.:{b’.l-«ﬂliuyﬂéiblﬁ?u
Describe the location of the point on the number plane. (-2, 4) = ’;—;lﬁufdﬁ*’d;ﬁ:’:&'ﬁ

Section -II ru,.:er-

x-3y=5; 2x-5y=9

(b) Prove that the points A(-1,1),B(3,2) and C(7,3) are collinear. .,L,_[?LE?M(‘TC[?,S)JJIB(B,Z)rA(-‘i11)1»1‘5,)"&4_5-;.1'& (,__,)

24-010-A-

-L{/Jafu;'ﬂﬂws:.%/&iﬁj (l-.-*)

AV
_f%.b:{"O"Jgfaf!:E'JIJJ}fL;L:Z V

Vi

Vil

Vi

IX

8x3=24 -JS2felnl e trte e st s

1 2] PO 1
(@) Find*~Tand * T3 if: x=2++3 Sy X T Z X7 (D 5
% - X %
(b) Determine whether the second polynomial is a factor of the first ¥ (_?J/?’int_?x/ffd/nf L,j/f':h",éfr;f:g ()
polynomial without dividing. 3x* —2x"+5x—6; x~1 _u.‘.fi.-;..g_} oy
A 43 ; ) o
(@) Find the H.C.F by division method, ¥ +3x—4, x° —=2x*—2x+3 A HCF) ke & L (L) 6
(@) Solve by completing the square method: 2x* —4x+1=0 _qff;é_{_}zi@/ﬁ" (I .7
(b) Construct a triangle ABC with base length 5cm and the angles Lubsiﬁy}ﬁfﬁSé’iﬁE’u’Z_E}hABCéﬁ (i-r")
at both ends of the base are 45° and 60° respectively. _UﬂBDDJ:‘T45Uu:J|ﬁfJLJ§:IJ£L_Ja,-'u.!;.u
. 4 2 y
(a) Find the value of 4 4if: A= 5 4 ﬁé;:"ﬂ:‘f A4 () 8

(@) Find the area of a triangle whose sides are 5,12,and 13. _(/ /KU1 134125 UULISE wol e de (LH1) L9
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